PHxE RTFBEBDISH A
AN

mﬁ=ﬂkfﬁb

s, RO T/IG

BTEPHO!
10.000m: (4a%x) &3
@

7S ) 5,000ms@8%) . 3,000/ (402
‘@ € 10073 (100%) ©) 50/ (2,000%) & 10FJ# (3,000%)

ME IR TR ﬁléﬁfﬁ%ﬁﬁnn#&&*)i?
"N © R (SRE-SES(LEE-EAMH)

¥BEICKRF

+ SR (R21,0008) 1% 57l

XEXEICEF

DVI5940.E 5)
ST PM2:00~) “geclinatet s 5
V5w Zé@?bt'f“/lﬁ.u

7/7@ 1’4@

52218 ﬁﬂ&%..uﬂﬂ—tz S L3 (5£2002%) H— u/aﬁ(sﬁ!#ooé #)
PR ETEN O T 1 BES (NSEUTOHTZHE 585510028 )

BEtED a»
=7 B i
= s i S 5 | z
= ] - 8 1 LLE B i &
] =, Safl ¥ 3L £ o1 el =1 Lol # L
5|7 Y, 1’%\7:7,“/ m?{‘ 35? O X4 J\ B " |ﬂ'9 D 2':
i q EXPEA L. 2T g2 e = sl LAl B .
g yQ 2 > 5 : FEE bR
it 5 F=15EE A2 R |E H| B H vE= UE o)
0 o/ 0000 00 oo e © o o o oeo oo I
J (I)
2 Q@ QO |eeeceeccccee 000 © o g =
F i X | RE ) Dggi;ﬁ kLR z %1%; e J gl X
¥ z-EBFEBoEsE 4 SED = : b
7% 13 7 i I E B igr % P :rl' Fﬁ'f 2 ~ Y e 0
¢ C X BRE L7 ? ERTEEE o £ 1| 3
"%R o e B S = R (] = =
R oM T bk 25l 2 D o I
= cet@aEsE Y E 5 & 5 1=
= AR = w2 i =
Tﬂ LI CHELWIR00RIBITHENS | KHEE. SITHES N | BCEE T, AR
.?m%lPﬁFaﬁ&HﬂF‘EJ 7/4(K)~7/1 5(}%) PM2:00~7:00 (B 5 #5E75F) q

&5 |FRAl V21— avITFFY AN



